Supplementary notes for Lizzie Godfrey/Catherine Seale

Note 1.

1NT – (x) – XX =  5 crd suit somewhere. Partner bids 2C.   
New suit = lower or 2 4 crd.

Note 2.

Carding Agreements

NO TRUMP CONTRACTS

Against No Trump we signal reverse attitude on the Ace, Queen or Jack lead but Count or unblock on the King. Standard count (with an exception) when we can’t beat the card in dummy.

Exception: Against a NT contract when singleton honour is in dummy. Reverse attitude is given for the next  lower honour.  When singleton A is in dummy reverse attitude is given for the K,Q or J. 

SUIT CONTRACTS

Against a suit contract King lead asks for Count. The exception to this is:

When xxx or xxxx in dummy. Then reverse attitude is given for the J.  
When dummy can’t be beaten, either very good honour holding or singleton then suit preference is given.

Trump suit preference signals

Some McKenney overtones.

Note 3. Agreements re: Doubles

Doubles are penalties after:

Partner has pre-empted/made Michaels overcall

We have passed out an auction

We have agreed a major (Except where no room for a game try)

We have shown/implied the suit bid (1♣) – X – (1♥) X = Penalties  Confirm
We have passed over the suit (unless opps have shown fit)

Opps have bid NT except (1L) – P – (1NT) –P – P – X = T/O   
Doubles are takeout of suit bids if no major suit fit has been found

X’s of most artificial bids (eg Bergen) are suit showing.

X of Stayman = Values and X of transfers = Suit
Over a short club we double freely with 44M regardless of minor suit holdings. Passing and then bidding 2♣ is natural

Responsive at 2 level tend to deny an unbid major (1♥) – X – (2♥)- X = Denies 4♠

Double of a splinter bid by the opps shows a desire to sacrifice at green

Note 4

Lebensohl v Preempts

When opponents have shown a major: 


CUE ALWAYS ASKS STOP: 
3N ALWAYS SHOWS STOP, 
Note 5.  Leaping Michaels  
Over an opponent’s weak-two in a major:

4♣ = OM +♣

4♦= OM+♦

Over an Opponent’s weak 2♦

4♣ = ♣ + M

4♦ = ♠+♥

These are jumps are to be treated as forcing but will rarely be passed.

Note 6 Bidding after 1x – 1M – 2M

1C -1H – 2H-   2NT = GT, 3M = weak, 3 other suit = S/T (not shortage)
 

Note 8.

Bidding after 1NT Opener Stayman,  four suit  transfers. 

· Break to 4 crd suits with max and 4 crd support

· Break in minors without support

· 3 level bids strong single suited slam tries

· 5/4 majors weak - transfer to the 5CM

· 5/4 majors invite - 2 clubs then bid the 5CM over 2D

· 5/4 majors GF - transfer

· 5/5 invite

· 2c then 3H over 2D

· 5/5 game - 4D

· 5/5 slam 2c then 3S over 2D

Note 9 splinters over 1M

1H – 3S = Shortage somewhere, then:

3NT asks:  4C/4D = shortage, 4H = singleton spade.

1S – 3NT = Shortage somewhere, then:

4C asks: 4D/4H = Shortage, 4S = singleton club.
4L = Void
Note 10

After 1M- 2N (Jacoby)

Jacoby used on 3+ crd support

Note 11  

2NT

20 – 22  Can be any 5-3-3-2 shape and upgraded 19’s
2NT – 3C – 3D = At least one 4 crd major (over which bid major haven’t got, 3NT with neither and 4m with both: 4C shows a better hand than 4D)



   3H = No four or five card major (over which 3S is the 5/4 hand, 3NT is signoff and 4m is natural).



   3S = 5 spades



   3NT = 5 Hearts

2NT – 3C – 3D – 3M (shows the other major) –

3NT – 4m =  natural 

2NT – 3C – 3D – 4C = Slam try BOTH MAJORS




    4D = Both majors NO slam interest

When we show a 5cM, step 1 agrees that major

· 2NT   - 3C – 3S – 4C = Agrees spades, slam try 

· 2NT  -  3C  - 3NT – 4C Agree hearts, slam try
2NT  -  3C  - 3NT – 4D transfer back to hearts

With 5/5 majors, if just bidding game transfer to spades and then bid 4H. If interested in slam, start with stayman, then 3S to show 5/4, and then 4H to show 5/5.

· 2NT – 3H – 3S – 4H = 5/5 no slam interest

· 2NT – 3C – 3H – 3S – 3NT – 4H = 3H denied major, 3S showed 5/4, 4H showed 5/5, slam interest

· 2NT – 3C – 3H – 3S – 3NT – 4m = fragment in a 54(31) shape

· 2NT – 3C – 3H (denies)       3S = Natural

4C = 5 Clubs

4D = 5Diamonds

4H = 4 Clubs

4S = 4 Diamonds
3D/3H = Transfers Broken to strength, 3NT = 5 of other M, 2 of partner’s M.


When responder bids second suit that is assumed to be trumps.

3S
= Minors (seeking slam or best game). This could be a 4/4 11 count, a 5/4 9 count or more distributional.

4L
 “Two below” slam tries, bid “in the gap” for some interest in majors. 4NT is sign-off in minors.

I.e. 
4C = H then



4D = S then


4D = some interest


4H = some interest



4H = weakest



4S = weakest



4S = cue-bid (more interest)

4NT = RKCB



4NT = RKCB



5C = cue (more interest)



4H = C




4S = D




4( = interest



4NT = to play




4NT = to play



5( = interest




5( = mild interest


5D = mild interest

